EEHEMH

BRIRIGEE
&3hIR - DIN 2079
EH 23100.
=ik
- . .
- These drive blocks are manufactured according to DIN 2079.
R
- BEEAN, REEL , RB, WE
EE
dg dg dg
cn| o a o o
= - o= 1
r/ b=
dy dy d;
— (-] -] -]
22 __lss01
~ o~ o~
fin] Fa fial
k k k|
picture 1 picture 2 picture 3
THER
EH#:kNo. R~ 1R H i ms
k b, d; ds g h Is 1SO 4762
h5 +0,1
[mm] [mm] [9]
ERATEHX nos. 30~60 , BXA -1HK 1
30 16,5 15,9 6,4 10,4 6,2 16,0 - M 6x 16 26 | 23100.0030
40 19,5 15,9 6,4 10,4 6,2 16,0 - M 6x16 32 | 23100.0040
45 19,5 19,0 8,4 13,5 8,3 19,0 - M 8x 20 40 | 23100.0045
50 - 55 26,5 25,4 13,0 19,0 12,3 25,0 - M12 x 25 88 | 23100.0050
60 455 25,4 13,0 19,0 12,3 25,0 - M12 x 25 181 23100.0060
ERTEHX no. 60 BXB - HE 2
60 | 455 254 | 130 19,0 12,3 25,0 - M12 x 25 140 | 23100.0160
EAT XMk nos. 30~50 , BXC - 18K 3
30 13,5 15,9 6,4 10,4 6,2 24,5 55 M 6 x 25 32 | 23100.0230
40 16,5 15,9 6,4 10,4 6,2 24,5 7,0 M 6x 25 40 | 23100.0240
45 17,5 19,0 8,4 13,5 10,0 26,0 7,5 M 8x 25 48 | 23100.0245
50 24,0 25,4 13,0 19,0 12,3 29,0 11,0 M12 x 30 90 | 23100.0250
WHALDER T s

FIBFE: 3.2.2024


http://halder.com/cn/23100.0030
http://halder.com/cn/23100.0040
http://halder.com/cn/23100.0045
http://halder.com/cn/23100.0050
http://halder.com/cn/23100.0060
http://halder.com/cn/23100.0160
http://halder.com/cn/23100.0230
http://halder.com/cn/23100.0240
http://halder.com/cn/23100.0245
http://halder.com/cn/23100.0250

EEEH
RRIRIEAEE

Az Peatl)

LS

¥4 RoHS
FEIES 2011/65/EU MIEH 2015/863

A& SVHC ¥I/&
FEBEE 0.1% ww B SVHC ¥R - BF 2024 £ 1 A 23 HEY SVHC B4

T& 65 SIREYRA
TaIE 65 SREYR
https://www.P65Warnings.ca.gov/

TEHZETY
AFBTERBARARERANERBEERWEABIEEN FRTWHNMER , FIHE, 5. SR8,

2w 2

ENHALDER FIBAE: 3.2.2024



